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Mathematics/ P2/WISKUNDE/V2Half-jaar EksamenMid-Year Examination NW/ Jun 2018
NSC- Grade 11

QUESTION/NVRAAG 1

111 )
mAB mBC
0+1_ p-0
241 5-2
i_» 1 p
3 3 v 3 3
p=1 v answer/antw
112 | mygxmy. =-1 (3) v’ setting an equation/vergelyking
-1-0 P -0 _ 1
-1-2 5-2 v" simplification/vereendiging
1p
xr -1
3 3
P v’ answer/antw
L
9
p=-9
113 Y vV =g? 3)
X, =X ) + =d
(% 12) (v2 Zyl) v’ substitution/substitusie
(5-2) +(p-0)' =¥ P .
9+ p? =25 simplification/vereenvoudig
p=+v25-9 v" both answers/beide antw
= +4
12
S(x;y)
t’
P(—4;5)
M
Q(4;1) “
5 >
R(-1,-4
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1.2.1 5-1 2
Moo ="4 4 v’ substitution/substitusie
1
=5 v answer/antw
122| ~_4-2 @3)
RM — _1_2 v 2
=2
1
1 _=
mPmeRM:_EXZ v 2X2
..PM LRS
123 (X1+X2 . y1+y2j (3)
2 2
_(—1+x 4+ y]
2 2
-1+X —4+y
5 = 2 — 2 v’ setting equationsiverg
-1+x=4 -4+y=4  X=5
X=5 y=8 v y=8
124 ©)
v _ .
RO = \/(_ 1 4)2 N (_ 4 1)2 Substitution/substitusie
~ /50
53 ~ RQ=4[50 or 52
SQ=/(5-4) +(8-1)°
=+/50 ~ SQ=+/50 or 52
=52
. AQRS is isosceles
=45 s PM=45
RS =/(5+1)° +(8+4)
=65 ~ RS=645
Area APRS = %x base x height v" Formula/form
= 1 x 6/5 x 4+/5 v" Substitution/substitusie
2 v' Answer/antw
=60 unit®
[24]
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3
17sina—-15=0
] 15
sina =—
17
ﬁu
17
15
L
i ay v’ correct
<« g sketch/korrekte
sket
v
X2 + y2 — r2
x? +15% =17?
X = +4/17% —152
=48
Ans: x=-8 v -8
tano = —E
8 v" Answer/antw
212 )
cos(a—180°) =—cosa v —Cosa
_ _(—_8]
17
8 v' Answer/antw
17
221 )
tan70°=p
tan110° = tan (180°-70°)

. v —tan70°
=-tan70 v" Answer/antw
==p
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222 ?)
r.2 — X2 + y2
r’=p?+1°
r =1+ p? s AL+ p?
sin 290° =sin (360°—70°)
= _sin70° v —sin70°
__ b v’ Answer/antw
1+ p?
2.3 (6)
sin150°.tan 225°
sin (—30°).sin 420°
_sin(180°-30°).tan (180° + 45°) ~ sin30°
~ —sin30°.sin(360°+60°) v tan4se
o o v —sin30°
_ (S|r.130 )(tah45 ) T sin60°
(—sin30°)(sin60°)
1
Ezj(l) v’ correct
=— substitution/korrek
(_1j ﬁ te subs
2 2
__2
\/§ v'answer/antw
[16]
QUESTION /VRAAG3
3. 8
1 €c0s390° v €0s30°
—— —tan(360°—-x).cos(180°+ x).cos(x—90°
COS(—3OO) ( ) ( ) ( 3 v —tan x
. v —CO0SX
= COS3OO—(—tan X)(—cos x)(sin x) v sinx
cos30 _ ~ €0s30°
ﬂ—(—ﬂ)(—cos x)(sin x) sinx
COS X v COSX
—1-sin?x v Simplification/vereenv..
, v" Answer/antw
=C0S" X
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32 (6)
2
LHS = w +COS X
1
— 41
COS X
=2
cosx(smzxj sin? x
= cos COS X v Cos*X
1+cosx
COS X 1+cosx
sin‘ x COS X v COSX
= X 4+ COS X
( COS X j 1+cosx
_sintx L v' Simplification/vereenv..
1+cosx
1-cos® x v 1-cos?x
=——"" "~ 4COSX
1+cosx
- (L-cosx)(1+cosx) +COS X v Factoring/fakt..
1+cos X
=1-C0S X +COS X v" Simplification/vereenv...
=1
.. LHS=RHS
33 (6)
6cosx—5= i
oS X v std form/std vorm
2 _
6cos” x—5cosx—4=0 v factors/faktore
(3cosx—4)(2cosx+1)=0
4 1 v values of 95X yyaarde van
cosx=§ or cosx=—§
1 v selection of answer/antw
COSX=——
2 v'answer/antw
Xx=1120°+360°k; kel
OR v keZ
X =120°+360°.k or 240°+360°.k
[20]
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Statement (S) Reason (R)
421 2
BCA = DEC = 26° equal chords; equal £s v S
v R
422 2
A =53° Z atcentre =2x /£ at v S
circumference Y R
423 | D+A, =180° opp Zs quad supp (6) v S
- v R
D =180°—-53°=127°  127°
C, +26°+127°=180° .
sumof Zs in v
&, =27 S/IR
2C, =180°-106° i
. Zs opp equal sides
&, =37° PP €q v S/R
OCD =37°+27° ) v Answer/antw
construction
=64°
[10]
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QUESTION/NVRAAG 5

51 @) v Answer/antw
90° or right £

5.2

Complete the proof:
Required to proof : MPT = PBM

Construction: Draw diameter PA and join AM

Statement (S) Reason (R)
5.2 (5)
PMA =90° Z insemi-circle v SIR
A+P =180°-90°=90° | £sinA v SR
! : : v SIR
MPT +P, =90° tangent L diameter/ radius v S
MPT=A . v SR
PBM = A Zs Insame segment
.. MPT = PBM
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OR
Statement (S) Reason (R)
52 | APT=90° chord L tan ()
A v
MPT =90°-P, S/IR
PMA =90° _ _ v 'S
diameter subtends right £
A=90°-P, v SIR
PBM = A
/s insame segment V'S
~.MPT =PBM v SR
53
A
P
Statement (S) Reason (R)
531 (8) v S VR
B. =A. =x tan chord theorem
- . v SvR
A =B =x s opp equal sides
Q=B,=x corresp £s; BC//PQ v SVR
BZ - Al —x tan chord theorem v S VR
P, =B, =x alt £s; BC//PQ v'S vR
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532 p —A, @
both = x v'SIR
. ABRPisacyclicquad | BR subtends equal /s v conclusion/konk..
533 3)
AP =BP sides opp equal /s v'S/R
BQ=BP sides opp equal /s v'SIR
AP =BQ both = BP v'S/IR
[19]

QUESTION/VRAAG 6

P
N
K
2 ]
0 U |75 3
1 N - T
1 73
S
Statement (S) Reason (R)
6.1 | K =90° diameter subtends right £ | (5)
- : V'S vR
U, =K, =90° Zs inthe same seg.
or
" _one ) ) v
U, =90 diameter subtends right /£ S/R
= . . v'SIR
NUP =180°—90°=90° | PUS is straight £ YR
. PUNKsacyclicquad | ext/ =int opp/
opp £ supp
62 |§_p alt £s; OS//PN (6)
= . V'S vR
K, =P, /s inthe same seg.
|”<2 =5 converse tan chord theorem v'S VR
vsS Vv
*. SO is a tangent S YR
[11]
TOTAL: [100]
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